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BOAANEHE NEELINLSA=VT Ktz 11&% #1715 £4.0m X kK
BOAANEHE NEELINLSA=VT Kitz 158% #2100 &4.0m & ook
B AAINEEHKE NEELINLSA=2T Ktz 1538%  f&150 &5.0m S s
B A IINEBEHKE NEEILINSA=2T Ktz 138% 2200 &5.0m A s
O IEHE NEELILSA=2T Kz 138% 2250 &5.0m Z ook
B A INEEHKE NEELINLSA=2T Ktz 138% 12300  &6.0m A ok
B A INEEHKE NEEILINLSA=2T Ktz 158% 12350 &6.0m S ok
FOAANEHE NEELINLSA=VT Kitz 138% #2400 &6.0m & ook
BB INEEHKE NEEILINLSA=2T Ktz 158% 12450 &6.0m A s
B AAINEEHKE NEELINLSA=2T Ktz 158% 12500 &6.0m A s
FOAANEHE NEELINLSA=VT Ktz 11&% 2600 &6.0m X Fkok
B A INEEHKE NEEILINLSA=2T Ktz 138% 2700 &6.0m S ok
BB IINEHE NEELINSA=2T Ktz 138% 12800 &6.0m S ok
BOAANEHE NEELINLSA=VT Ktz 11&% 2900 &6.0m X kK
SO IWEHE NEELILSA=2T Ktz 138% 21000 £6.0m Z ook
B BAINEEHKE NEEILINLSA=2T Ktz 138% 21100 &6.0m A ok
FOAANEGEHE NEELINLSA=VT Ktz 11&% #1200 F6.0m X koK
B A INEEHKE NEEILINLSA=2T Ktz 138% 121350 &6.0m S ok
O INEHE NEELILSA=VT Ktz 158% 121500 £6.0m Z ook
oA IWEHE NEELILSA=2T Ktz 138% 121600 £4.0m A 1, 170, 000
oA INEHE NEELILSA=T Ktz 138% 21600 &£5.0m A 1, 440, 000
OB IEHE NEELILSA=2T Ktz 138% 121650 £4.0m A 1, 240, 000
oA INEHE NEELILSA=2T Ktz 138% %1650 &5.0m A 1,520, 000
O NEBHE NEELILSA=VT Ktz 138% 121800 £4.0m PN 1, 480, 000
OB INEBHE NEELILSA=2T Ktz 138% 21800 &5.0m A 1, 820, 000
O INEHE NEELILSA=2T Ktz 138% %2000 £4.0m A 1, 800, 000
OB IEHE NEELILSA=2T Kftz 138% #2000 £&5.0m A 2,210, 000
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BORAINESE NEELZLFA=T Kfiz 1.5%8% 121600 &4.0m x -
BORAINESE NEELZLFA=2T Kfiz 1.5%8% 121600 &5.0m & -
BOBAINEHE NEELZLFA=T Kfiz 1.5%8% 121650 £&4.0m p -
BORAIEHE NEELZLFA=2T Kfiz 1.5%8% 121650 &5.0m & -
BORAINEHE NEELZLTA=T Kfiz 1.5%8% 721800 £&4.0m & -
BORAIESE NEELZLFA=2T Kfiz 1.5%8% 121800 &5.0m & -
BOBAINESE NEELZNLFTA=2T Kfiz 1.5%8% 122000 £&4.0m & -
BOBRAIEHE NEELZLFA=2T Kfiz 1.5%8% 122000 £&5.0m & -
FOBANEBHE NEELZINLFA=2T Kfiz 218% #2400 K6.0m S ok
HOBAIEHEHE NEELZLSA=T Kfiz 218% 12450 £6.0m Z:N kK
FOBANEBHE NEELZINLFA=2T Kfiz 218% #2500 K6.0m A Hohok
FOBANEBHRE NEELZINFA=2T Kfiz 218% #2600 K6.0m S ook
HOBAIEHEHE NEELZNSA=T Kfiz 218% 12700 £6.0m Z:N kK
FOBANEBHRE NEELZINFA=2T Kfiz 218% #2800 K6.0m S ook
FOBANEBHRE NEELZINFA=2T Kfiz 218% #2900 K6.0m A ook
BORAINESE NEELILFA=2T Kfiz 218% 121000 £6.0m & ook
FOBAIEHEHE NEELZNSA=T Kfiz; 218% 121100 £6.0m E:N kK
FOBANEBHRE NEELZINLFA=2T Kitz 218% 21200 K6.0m x Fook
HOBAIEHEHE NEELZNSA=T Kfiz 218% 121350 £6.0m Z:N kK
FOBANEBHRE NEELZILFA=2T Kitz 218% 21500 6. 0m X Fook
FOBAINEEHE NEELINSA=VY Kftz 218% 121600 &4.0m x 1, 040, 000
FOBAINEHE NEELINSA=VY Kfz 2318% 121600 &5.0m x 1,280, 000
Lo EHE NEELINSA=VY Kfiz 218% 121650 &4.0m x 1,110, 000
Lo EHE NEELINGA=VY Kfiz 2318% 121650 &5.0m x 1, 360, 000
FOBAIEEHE NEELINSA=VY Kftz 2318% 121800 &4.0m x 1, 290, 000
Lo EEHE NEELINGA=VY Kftz 218% 121800 £5.0m x 1, 580, 000
FOBAINEHE NEELINSA=VY Kfz 238% 122000 £&4.0m x 1, 590, 000
FOBAINEHE NEELINSA=VY Kz 2f8% 12000 £5.0m x 1,950, 000
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SO INEHE NEELILSA=2T Ktz 2.5%8% %1600 £4.0m Z -
O IEBHE NEELILSA=2T Ktz 2.5f8% %1600 &5.0m Z -
OB INEHE NEELILSA=T Ktz 2.5%8% %1650 £4.0m E -
O INEBHE NEELILSA=2T Ktz 2.5%8% %1650 &5.0m 7 -
O IEBHE NEELILSA=2T Ktz 2.5%8% %1800 £4.0m Z -
O IEHE NEELILSA=2T Ktz 2.5%8% %1800 £&5.0m Z -
OB INEHE NEELILSA=2T Ktz 2.588% %2000 £4.0m Z -
O INEBHE NEELILSA=2T Ktz 2.588% %2000 £&5.0m Z -
FOAANEHE NEELINLSA=VT Ktz 31&E &75 £4. 0m X kK
BB INEEHKE NEEILINLSA=2T Ktz 3%  f&100  &4.0m A s
O IEBHE NEELILSA=2T Kiz 318% %150 &5.0m Z ook
FOAANEHE NEELINLSA=VT Ktz 31EE #2200  &5.0m X Fkok
B A INEEHKE NEEILINLSA=2T Kitz 3%8% 12250 &5.0m S ok
BB IINEHE NEELINSA=2T Kitz 3%8% 12300 &6.0m S ok
OB INEHE NEELILSA=2T Kz 318% %350 F&6.0m Z ook
SO IWEHE NEELILSA=2T Kiz 318% 2400 F&6.0m Z ook
B BAINEEHKE NEEILINLSA=2T Kitz 3%8% 12450 K6.0m A ok
FOAANEGEHE NEELINLSA=VT Ktz 3tEE 500 6.0m X koK
B A INEEHKE NEEILINLSA=2T Kitz 3%8% 12600 &6.0m S ok
O INEHE NEELILSA=VT Kiz 318% 2700 F&6.0m Z ook
FOAANEHE NEELINLSA=VT Ktz 31EE #2800 6.0m X Fkok
B A INEEHKE NEEILINLSA=2T Kitz 3%8% 12900 &6.0m S s
BB INEHKE NEELINSA=2T Kitz 3%8% 121000 £6.0m S ok
FOAANEGEHE NEELINLSA=VT Ktz 31&E #1100 K6.0m X Fkok
O NEBHE NEELILSA=VT Ktz 3f8% 121200 £6.0m Z ook
B AAINEEHKE NEELINLSA=2T Kitz 3%8% 121350 &6.0m A ok
FOAANEHE NEELINLSA=VT Ktz 31&E #1500 F6.0m X Fkok
OB IEHE NEELILSA=2T Kitz 318% %1600 £4.0m A 964, 000
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Lo EEHE NEELILSA=VY Kfz 318% 121600 &5.0m x 1,180, 000
Lo EHE NEELINSA=VY Kftz 318% 121650 &4.0m X 1,020, 000
Lo EEHE NEELINSA=VY Kfz 3318% 121650 &5.0m x 1, 250, 000
FOBAINEEHE NEELINSA=VY Kfz 3318% 121800 £&4.0m x 1, 190, 000
FOBAINEHE NEELINSA=VT Kfiz 318% 121800 £&5.0m x 1, 460, 000
FOBAINEEHE NEELINSA=VY Kftz 318% 122000 £&4.0m x 1, 500, 000
Lo EEHE NEELINGA=VY Kfz 338% 122000 £5.0m x 1,830, 000
BOBRAIEHE NEELZLFA=2T Kfiz 3.5%8% 121600 &4.0m & -
BORAIEHE NEELZLFA=2T Kfiz 3.5%8% 121600 £&5.0m & -
BORAINEHE NEELZLFA=T Kfiz 3.5%8% 121650 &4.0m & -
BOBAIESE NEELZLFA=2T Kfiz 3.5%8% 121650 f&5.0m & -
BORAIEHE NEELZLFA=VT Kfiz 3.5%8% 121800 £&4.0m & -
BOBRAIESE NEELZLFA=2T Kfiz 3.5%8% 121800 f&5.0m & -
BORAINEHE NEELZLFA=T Kfiz 3.5%8% 122000 £&4.0m & -
BOBRAINESE NEELZLFA=2T Kfiz 3.5%8% %2000 f&5.0m & -
BORAINESE NEELILFA=2T Kfiz 418% #2600 &6.0m & ook
FOBANEBHRE NEELINLFA=2T Kfiz 4%8% #2700 K6.0m A ook
FOBANEBHRE NEELZINLFA=2T Kfiz 4%2% #2800 K6.0m S ook
HOBAIEHEHE NEELZNSA=T Kfiz 438% 12900 £6.0m Z:N kK
FOBANEBHRE NEELZILFA=2T Kfiz 4%2% 21000 K6.0m P *ohok
FOBANEBHRE NEELZINLFA=2T Kfiz 4%8% 21100 K6.0m & ook
FOBAIEHE NEELZNSA=T Kfiz 438% 121200 £6.0m Z:N kK
FOBANEBHE NEELZINLFA=2T Kfiz 4%8% #1350 K6.0m & ook
FOBANEHRE NEELZINFA=2T Kfiz 4%2% 21500 6.0m & ook
FOBAIEEHE NEELINSA=VY Kitz 438% 121600 &4.0m x 890, 000
Lo EEHE NEELINGA=VY Kftz 438% 121600 &5.0m x 1, 090, 000
FOBAINEHE NEELINSA=VY Kfiz 438% 121650 &4.0m x 954, 000
FOBAINEHE NEELINSA=VY Kiz 438% 121650 &5.0m x 1, 160, 000
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SO INEHE NEELILSA=2T Ktz 458% 121800 £4.0m A 1,120, 000
O IEBHE NEELILSA=2T Ktz 4318% 121800 &5.0m A 1,370, 000
OB INEHE NEELILSA=T Ktz 458% %2000 £4.0m A 1. 350, 000
O INEBHE NEELILSA=2T Kitz 438% %2000 £&5.0m A 1. 650, 000
O IEBHE NEELILSA=2T Ktz 4.5%8% -DA_ #2600 6.0m PN ook
BOAANEHE NEELINLSA=VT K#z 4.5%&%-DA %700 &K6.0m X kK
B A INEEHKE NEELINLSA=2T Kitz 4.5%E%-DA 72800 &6.0m A ok
O INEBHE NEELILSA=2T Ktz 4.5%8% -DA_ #2900 £6.0m & ook
FOAANEHE NEELINLSA=VT K#z 4.5%%-DA %1000 +&6.0m X kK
BORAINEHE NEELILSA=2T Kfiz 4.5%8% -DA_ 11100 £6.0m 7 ook
O IEBHE NEELILSA=2T Kitz 4. 5%8% -DA_ %1200 &6.0m Z ook
FOAANEHE NEELINLSA=VT K#z 4.5%&%-DA %1350 {&6.0m X Fkok
OB IEBHE NEELILSA=2T Kfiz 4.5%8% -DA_ 11500 £6.0m Z ook
O INEHE NEELILSA=2T Kitz 4.5%%-DA_ %1600 £4.0m A 787. 000
OB INEHE NEELILSA=2T Kitz 4. 5%8%-DA_ %1600 &5.0m A 958, 000
SO IWEHE NEELILSA=2T Kitz 4.5%2%-DA_ %1650 &4.0m A 840. 000
O INEBHE NEELILSA=2T Kitz 4.5%E%-DA %1650 &5.0m A 1. 020, 000
oA INEBHE NEELILSA=2T Kitz 4.5%E%-DA %1800 &4.0m P 996, 000
BORAIEHE NEELILSA=2T Kitz 4.5%8% -DA %1800 &5.0m P 1. 210, 000
O INEHE NEELILSA=VT Kitz 4. 5%8% -DA %2000 £4.Om A 1, 200, 000
oA IWEHE NEELILSA=2T Kitz 4.5%8% -DA %2000 &5.0m A 1, 470, 000
oA INEHE NEELILSA=T Ktz b%8%-DB #2600 6.0m & ook
OB IEHE NEELILSA=2T Ktz 5%8%-DB #2700 £6.0m PN ook
oA INEHE NEELILSA=2T Kz b%8%-DB #2800 6.0m & ook
B A INEEHKE NEEILINLSA=2T Kitz 5%8%-DB #2900 &6.0m A ok
OB INEBHE NEELILSA=2T Kftz 5%8%-DB 21000 f£6.0m & ook
B AAIINEHKE NEEILINLSA=2T Kitz 5%8%-DB #1100 &6.0m S ok
OB IEHE NEELILSA=2T Ktz 5%8%-DB %1200 f6.0m PN ook
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BB A IEHE WNEELZILSA=2F Ktz 5%8%-DB %1350 6.0m & ook
O IEBHE NEELILSA=2T Kftz 5%8%-DB %1500 f6.0m & ook
OB INEHE NEELILSA=T K#tz #&%-DB %1600 £4.0m & 723. 000
O INEBHE NEELILSA=2T K#iz #&%-DB %1600 £&5.0m & 879. 000
O IEBHE NEELILSA=2T Kfiz b38%-DB %1650 £4.0m & 773. 000
O IEHE NEELILSA=2T Kfiz 5#&%-DB %1650 f&5.0m & 940. 000
OB INEHE NEELILSA=2T Kftz 5#8%-DB %1800 4.0m & 899, 000
O INEBHE NEELILSA=2T Kfiz #&%-DB %1800 5.0m & 1,090, 000
oA INEBHE NEELILSA=2T K#iz 5#&%-DB 2000 £4.0m P 1, 120, 000
BORAINEHE NEELILSA=2T K#iz 3% -DB %2000 £5.0m & 1, 370, 000
O IEBHE NEELILSA=2T T 158%  #75  F4.0m Z ook
FOAANEHE NEELINLSA=VT TH 118E 100  &4.0m X Fkok
B A INEEHKE NEEILINLSA=2T TH 138% %150 £5.0m S ok
BB IINEHE NEELINSA=2T TH 138% %200 £5.0m S ok
OB INEHE NEELILSA=2T T 138% %2250 K5.0m Z ook
B A IINEHKE NEEILINLSA=2T TH 138% #2300 £6.0m A s
B BAINEEHKE NEEILINLSA=2T TH 138% #2350 £K6.0m A ok
FOAANEGEHE NEELINLSA=VT TH 118E 2400 &6.0m X koK
B A INEEHKE NEEILINLSA=2T TH 138% %450 £6.0m S ok
BOAANEHE NEELINLSA=VT TH 138% %500 F&6.0m x ook
FOAANEHE NEELINLSA=VT TH 118E 2600 &6.0m X Fkok
B A INEEHKE NEEILINLSA=2T TH 138% %700  £6.0m S s
BB INEHKE NEELINSA=2T TH 138% %800 £6.0m S ok
FOAANEGEHE NEELINLSA=VT TH 11&E 2900 6.0m X Fkok
B A INEEHKE NEEILINLSA=2T TH 138% %1000 £6.0m A ok
B AAINEEHKE NEELINLSA=2T TH 138% %1100 £6.0m A ok
FOAANEHE NEELINLSA=VT TH 118E #1200 F6.0m X Fkok
FOAANEGEHE NEELINLSA=VT TH 138% %1350 &6.0m A ook
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BORAINESE NEELZLFA=T Ths 138% 121500 £6.0m x ook
Lo EHE NEELINSA=VY TH 138% 121600 &4.0m X 1, 220, 000
Lo EEHE NEELINSA=VY Th 138% 121600 &5.0m x 1, 490, 000
FOBAINEEHE NEELINSA=VY Th 138% 121650 &4.0m x 1,280, 000
FOBAINEHE NEELINSA=VT Th; 138% 121650 &5.0m x 1,570, 000
FOBAINEEHE NEELINSA=VY Th 138% 121800 &4.0m x 1, 540, 000
Lo EEHE NEELINGA=VY Th 138% 121800 £&5.0m x 1,890, 000
FOBAINEHE NEELINSA=VY Th 138% 122000 £&4.0m x 1, 890, 000
Lo EHE NEELINGA=VY Th 138% 122000 £&5.0m x 2, 310, 000
BORAINEHE NEELZLFA=T THs 1.5%8% 121600 &4.0m & -
BOBAIESE NEELZLFA=2T THs 1.5%8% 121600 &5.0m & -
FOBANEBHRE NEELZINFA=2T THs 1.5%8%E 121650 £4.0m X -
BOBRAIESE NEELZLFA=2T THs 1.5%8% 121650 £&5.0m & -
FOBANEHHE NEELILSA=VT THs 1.5%8% 121800 £4.0m Z:N -
FOBANEBHRE NEELZINFA=2T THs 1.5%8% %1800 ££5.0m x -
BORAINESE NEELILFA=2T THs 1.5%8% 122000 £&4.0m & -
BOBAIESE NEELZLFA=2T THs 1.5%8% 122000 £&5.0m p -
FOBANEBHRE NEELZINLFA=2T TH 218% 12400 K6.0m S ook
FOBANEBHE NEELINSA=VY THs 218% 12450 F6.0m Z:N kK
FOBANEBHRE NEELZILFA=2T TH 218% #2500 K6.0m A *ohok
FOBANEBHRE NEELZINLFA=2T TH 218% #2600 K6.0m A ook
FOBANEBHE NEELZILSA=VY THs 2f8% 12700 £6.0m Z:N kK
FOBANEBHE NEELZINLFA=2T TH 218% #2800 K6.0m S ook
FOBANEHRE NEELZINFA=2T TH 218% #2900 K6.0m S ook
BOBAIESE NEELZNLFTA=2T THs 218% 121000 £6.0m & ook
FOBANEBHRE NEELZINLFA=2T TH 218% #1100 K6.0m p ook
FOBANEBHRE NEELINFA=2T TH 218% #1200 K6.0m P ook
FOBANEBHE NEELZINFA=2T TH 278% %1350 £K6.0m & ook
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BORAINESE NEELZLFA=T THs 218% 121500 £6.0m x ook
Lo EHE NEELINSA=VY Th 238% 121600 &4.0m X 1,090, 000
Lo EEHE NEELINSA=VY Th 238% 121600 &5.0m x 1, 330, 000
FOBAINEEHE NEELINSA=VY Th 238% 121650 &4.0m x 1, 150, 000
FOBAINEHE NEELINSA=VT Th, 238% 121650 &5.0m x 1,410, 000
FOBAINEEHE NEELINSA=VY Th 238% 121800 &4.0m x 1, 340, 000
Lo EEHE NEELINGA=VY Th 238% 121800 &5.0m x 1, 640, 000
FOBAINEHE NEELINSA=VY Th 238% 122000 £&4.0m x 1, 670, 000
Lo EHE NEELINGA=VY Th 238% 122000 £&5.0m x 2, 040, 000
BORAINEHE NEELZLFA=T THs 2.5%8% 121600 &4.0m & -
BOBAIESE NEELZLFA=2T THs 2.5%8% 121600 £&5.0m & -
FOBANEBHRE NEELZINFA=2T THs 2.5%8% 121650 £4.0m X -
BOBRAIESE NEELZLFA=2T THs 2.5%8% 121650 &5.0m & -
FOBANEHHE NEELILSA=VT THs 2.5%8% 121800 £4.0m Z:N -
FOBANEBHRE NEELZINFA=2T THs 2.5%8% 121800 ££5.0m x -
BORAINESE NEELILFA=2T THs 2.5%8% 122000 £&4.0m & -
BOBAIESE NEELZLFA=2T THs 2.5%8% 122000 £&5.0m p -
FOBANEBHRE NEELZINLFA=2T TH 3% 75 K4.0m & *kk
FOBANEBHE NEELINSA=VY THs 3%8% 12100 F£4.0m Z:N kK
FOBANEBHRE NEELZILFA=2T TH 3% %150 Kb5.0m A *ohok
FOBANEBHRE NEELZINLFA=2T TH 31%E #8200 K5.0m A ook
FOBANEBHE NEELZILSA=VY THs 3%8% 12250 5.0m Z:N kK
FOBANEBHE NEELZINLFA=2T TH 3% #2300 K6.0m S ook
FOBANEHRE NEELZINFA=2T TH 3% #2350 K6.0m S ook
BOBAIESE NEELZNLFTA=2T TH 318% #2400 &6.0m & ook
FOBANEBHRE NEELZINLFA=2T TH 3% 18450 K6.0m A ook
FOBANEBHRE NEELINFA=2T TH 3% #2500 K6.0m S ook
FOBANEBHE NEELZINFA=2T TH 3%18% %600 &6.0m & ook
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SO INEHE NEELILSA=2T T 31% 2700  FK6.0m Z ook
B A INEEHKE NEELINSA=2T TH 3%8% 12800 K6.0m A s
BOAANEHE NEELINLSA=VT TH 31E&E 2900 &6.0m X Fkok
B AAINEEHKE NEELINLSA=2T TH 3%E% 121000 £6.0m S s
B A IINEBEHKE NEEILINSA=2T TH 3% 1100 &6.0m A s
O IEHE NEELILSA=2T TH 3%E% 121200 £6.0m Z ook
B A INEEHKE NEELINLSA=2T TH 3%E% 121350 &6.0m A ok
B A INEEHKE NEEILINLSA=2T TH 3%E% 21500 &6.0m S ok
FOAANEHE NEELINLSA=VT TH 31&E #1600 F4.0m X kK
BB INEEHKE NEEILINLSA=2T TH 3% 21600 &5.0m A s
O IEBHE NEELILSA=2T TH 3%E% 121650 &4.0m Z ook
FOAANEHE NEELINLSA=VT TH 31EE #1650 &5.0m X Fkok
B A INEEHKE NEEILINLSA=2T TH 3%E% 121800 &4.0m S ok
BB IINEHE NEELINSA=2T TH 3%E% 121800 &5.0m S ok
OB INEHE NEELILSA=2T TH 3%E% 122000 £4.0m Z ook
SO IWEHE NEELILSA=2T TH 3%8% 22000 &5.0m Z ook
O INEBHE NEELILSA=2T TH 3.588% %1600 £4.0m Z -
oA INEBHE NEELILSA=2T TH 3.5f8% %1600 £5.0m A -
BORAIEHE NEELILSA=2T TH 3.5f8% %1650 £4.0m 7 -
O INEHE NEELILSA=VT TH 3.5f8% %1650 £5.0m Z -
oA IWEHE NEELILSA=2T TH 3.588% %1800 £4.0m Z -
oA INEHE NEELILSA=T TH 3.588% %1800 £5.0m Z -
OB IEHE NEELILSA=2T TH 3.588% %2000 £4.0m 7 -
oA INEHE NEELILSA=2T TH 3.588% %2000 £5.0m Z -
O NEBHE NEELILSA=VT T 43% 2600  FK6.0m Z ook
B AAINEEHKE NEELINLSA=2T TH 4%8%  &700  £6.0m A ok
FOAANEHE NEELINLSA=VT TH 41EE 2800 &6.0m X Fkok
FOAANEGEHE NEELINLSA=VT THs 458% 2900  K6.0m A ook
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FOAANEHE NEELINLSA=VT T 4%8% 21000 FK6.0m Z ook
B A INEEHKE NEELINSA=2T TH 4%8%  &1100 &6.0m A s
BOAANEHE NEELINLSA=VT TH 418E #1200 F6.0m X Fkok
B AAINEEHKE NEELINLSA=2T TH 4%8% 121350 &6.0m S s
B A IINEBEHKE NEEILINSA=2T TH 438% 121500 &6.0m A s
O IEHE NEELILSA=2T TH 458% 121600 &£4.0m Z ook
B A INEEHKE NEELINLSA=2T TH 4%8% 121600 &5.0m A ok
FOAANEHE NEELINLSA=VT T 4%8%E 21650 F&4.0m Z ook
FOAANEHE NEELINLSA=VT TH 41T #1650 F5.0m X kK
BB INEEHKE NEEILINLSA=2T TH 458% 121800 &4.0m A s
O IEBHE NEELILSA=2T TH 458% 121800 &5.0m Z ook
FOAANEHE NEELINLSA=VT TH 418E #2000 F4.0m X Fkok
B A INEEHKE NEEILINLSA=2T TH 4%8% 122000 &5.0m S ok
BB IINEHE NEELINSA=2T TH 4.58%-DA %600 £6.0m S ok
BOAANEHE NEELINLSA=VT TH 4.5%%-DA %700 &6.0m X kK
SO IWEHE NEELILSA=2T THs 4.55%-DA 12800 £6.0m Z ook
B BAINEEHKE NEEILINLSA=2T TH 4.58%-DA 2900 £6.0m A ok
oA INEBHE NEELILSA=2T TH# 4.5%8%-DA_ 21000 £6.0m & ok
BORAIEHE NEELILSA=2T TH 4.5%8%-DA_ 21100 £6.0m & ok
O INEHE NEELILSA=VT THs 4.5%% -DA_ 11200 £6.0m Z ook
oA IWEHE NEELILSA=2T TH 4.5%8%-DA 21350 f6.0m & ook
oA INEHE NEELILSA=T TH# 4.5%8%-DA_ %1500 £6.0m & ook
OB IEHE NEELILSA=2T TH 4.58%-DA %1600 £4.0m A 775. 000
oA INEHE NEELILSA=2T TH 4.58%-DA %1600 &5.0m A 939, 000
O NEBHE NEELILSA=VT TH 4.5%%-DA_ %1650 &4 0m PN 826. 000
OB INEBHE NEELILSA=2T TH 4.5%%-DA_ %1650 &5.0m A 1. 000, 000
O INEHE NEELILSA=2T TH 4.58%-DA %1800 F£4.0m A 984, 000
OB IEHE NEELILSA=2T TH 4.58%-DA_ #%1800 &5.0m A 1. 190, 000




[ ShEMEME ] SH2E108
8. B (HHEH)
o 5 4 B fi

# i 18 # By (M) i
FORAIEEHKE RNEEILZILSA=T Tz 4.5%8% -DA_ %2000 £4.0m N 1,200, 000
TR IEEHKE RNEEILZILSA=T Tz 4.5%8%-DA_ %2000 &5.0m N 1, 460, 000
B IEEHKE REEILZILSA=T TH#z b5%@E-DB %600 £6.0m N *okok
T3 IEEHKE REEILZIILSA=T TH 5#&E-DB %700  K6.0m X Fokok
TR IEEHKE RNEEILZIILSA=T Ti#z 65%@E-DB %800 £6.0m N *okok
T3 IEEHKE RNEEILZILSA=T THs 5% & -DB %2900 £6.0m N *okok
FORAIEEHKE RNEEILZILSA=T TH#s 5#&E-DB %1000 £6.0m X dokok
FORAIEEHKE RNEEILZIILSA=T T#z 53@E-DB %1100 £6.0m N *okok
TR IEEHKE REEILZIILSA=T Ti#z 5% E-DB %1200 £6.0m N *okok
TR AIEEHKE REEILZILSA=T Ti#z 65%@E-DB %1350 £6.0m A *okok
KB NERE NEELINLSA=2Y TH 588%5 DB f£1500 £6.0m & sork
T3 AIEEHKE RNEEILZIILSA=T THs 5% & -DB %1600 £4.0m N 713, 000
TR IEEHKE RNEEILZIILSA=T TH 5% & -DB %1600 5. 0m X 862, 000
TR AIEEHKE REEILZIILSA=T TH# 5#&E-DB %1650 F4.0m N 761, 000
FO A IEEHKE RNEEILZILSA=T THs 5#EE -DB %1650 &5.O0m N 922, 000
TR IEEHKE RNEEILZIILSA=T THs 5#&E-DB %1800 F4.0m N 893, 000
TR IEEHKE RNEEILZIILSA=T THs 5#&E -DB %1800 5. 0m N 1,080, 000
TR IEEHKE RNEEILZIILSA=T TH# 5#&E-DB %2000 £4.0m N 1, 130, 000
FORAIEEHKE RNEEILZIILSA=T TH 5#EE-DB %2000 &5.0m N 1, 360, 000
T3 IEEHKE RNEEILZILSA=T K#z b%E-DB 300 £6.00m N *okok
TR IEEHKE RNEEILZILSA=T K#z b%E-DB &350 £&6.00m A *okok
FORZAIEEHKE REEILZIILSA=T K#z bH%E-DB %400 £6.00m N )k
TR IEEHKE RNEEILZIILSA=T K#z H%E-DB £450 £&6.00m N *okok
TR AIEEHKE RNEEILZILSA=T K#z H5%E-DB 500 £&6.00m N )k
FORZAIEEHKE RNEEILZILSA=T T# b%E-DB £300 £6.00m N *okok
TR IEEHKE RAEEILZILSA=T 1§ bH%E-DB &350 &6.00m X Fokok
TR IEEHKE RNEEILZIILSA=T T# bH%E-DB %400 £6.00m N *okok
B IEEHKE REEILZIILSA=T T# b5%E-DB £450 &6.00m N )k




[ #tEMEM ] H25E10R
8. B (BHER)

% # w By = & i
BB IEHE NEELZILSA=Y THs 5% -DB 2500 £6.00m & ook
Lo EHE NEELINSA=VY TH DG %1600 F4.0m X 697, 000
Lo EEHE NEELINSA=VY TH DG %1650 F4.0m x 747,000
FOBAINEEHE NEELINSA=VY TH DG %1800 F4.0m x 879, 000
FOBAINEHE NEELINSA=VT THs DG %2000 F4.0m x 1, 090, 000
BORAIESE NEELZLFA=2T TH DD %800 6.0m & *ohok
Lo EEHE NEELINGA=VY TH DD %900 K6.0m & ook
BOBRAIEHE NEELZLFA=2T TH DD 21000 £6.0m & ook
BORAIEHE NEELZLFA=2T TR DD 1100 &6.0m & ok
FOBAINEHE NEELINSA=VY Th DD %1200 £6.0m & ook
BOBAIESE NEELZLFA=2T TH DD 21350 6.0m & Hohok
BORAIEHE NEELZLFA=VT TH DD 21500 6.0m & ook
FOBAINEHE NEELINSA=VY TH, DD %1600 £4.0m x 656, 000
FOBAINEBHE NEELINSA=VY Th DD %1650 F4.0m x 703, 000
Lo EHE NEELINSA=VY TH; DD %1800 F4.0m x 832, 000
FOBAINEHE NEELINGA=VY TH DD %2000 F4.0m x 1,010, 000
BOBAIESE NEELZLFA=2T K#z DD %800 6.0m p ook
BORAINEHE NEELZLFTA=2T K#2 DD 2900 6.0m & ook
FOBAINEHE NEELINSA=VT Kfs DD %1000 f6.0m & ook
BOBRAIIESE NEELZLFA=T K#2 DD 21100 £6.0m P *ohok
BORAIESE NEELZNLFTA=2T K#z DD 21200 £6.0m & ook
FOBAINEHE NEELINSA=VY Kfs DD %1350 f6.0m & ook
BORAINEHE NEELZLFA=2T K#2 DD 21500 6.0m & ook
Lo EHE NEELINGA=VY Kfs DD %1600 f4.0m x 659, 000
FOBAIEEHE NEELINSA=VY Kf, DD %1600 f5.0m x 796, 000
Lo EEHE NEELINGA=VY Kfs DD %1650 f4.0m x 708, 000
FOBAINEHE NEELINSA=VY Kfs DD %1650 f5.0m x 857, 000
FOBAINEHE NEELINSA=VY Kfs DD %1800 f4.0m x 829, 000




[ st EMEM ] S2410R

8. B (B#EH

B i

2 # # 1 Bify R #

FO2ANEHE NEAELINSA=2T Kz DD %1800 f5.0m & 1,000, 000
FO2ANEHE NEAELINSA=2T Kfiz DD 22000 f4.0m & 1,000, 000
FO2ANEHE NEAELINSA=2T Kz DD 22000 f5.0m & 1, 200, 000
NS GBRES

§9 8 AN HBERBEEWS KRRzt b - STL8 1275 # ok
§9 8 AN HBERBEEBS KA HEAIL b - L8 #2100 # ok
§9 8 AN HBERBEEBS KRG HEAIL b - L8 #2150 # ok
§9 8 AN HBERBEEBS KRG HEAL b - L8 #2200 # ok
§9 8 AN HBERBEEWS KA b - L6 #2250 # ok
F9 8 AN HBERBEEWS KAz #RSRARL b - L8 12300 # ok
F9 8 AN HBERBEEBS KRG HEAIL b - L8 #2350 # ok
F9 8 AN HBERBEEBS KRG HERAIL b - L8 2400 # ok
§9 8 AN HBERBEEWS KRG HEAIL b - L6 #2450 # ok
F9 8 AN HBERBEEWS KRR b - L8 (2500 # ok
§9 8 AN HBERBEEBS K HEAIL b - L6 #2600 # ok
F9 8 AN HBERBEEBS KA b - L8 #2700 # ok
F9 8 AN HBERBEEBS KRG HEAIL b - L8 #2800 # ok
§9 8 AN HBERBEEBS KRG HEAIL b - L8 2900 # ok
F9 8N HBERBEEWS KRS HRERAIL b - L8 #£1000 # ok
F9 8 AN HBERBEEBS KRG HRERAIL b - L8 #1100 # ok
§9 8 AN HBERBEEBS KRS HRERAL b - L8 21200 # ok
§9 8 AN HBERBEEBS KRS HRERAIL b - L8 #1350 # ok
§9 8 AN HBERBEEWS KRG #RERAIL b - STL8  #21500 # ok
F9 8 AN HBERBEEWS KRS HRERAIL b - L8 #£1600 # 142, 000
§9 8 AN HBERBEEBS KRS HRERAIL b - STL8  #21650 # 149, 000
§9 8 AN HBERBEEBS KRG HRERAIL b - L8 21800 # 170. 000
F9 8 AN HBERBEEBS KRS HRERAIL b - L8 #£2000 # 205, 000

- ERE GHRES)




[ st EMEM ] S2410R
8. B (B#EH

% # ®m % B = & #
S5 8 4 L EHITEE Ki 2600 60" MESRIE R & -
S5 8 4 L BT EE ki 2700 60°  MESRiE R & -
S 8 4 L EBITE S Ki 12800 60°  MESRIE R & -
S5 8 4 )L BT E S ki 2000 60°  MESRiE R & -
S5 8 4 L EHITE S Kis 21000 60° NS HAiE R & -
S5 8 4 L EBITEE ki 21100 60°  ME SRS R & -
S5 8 4 L EBITEE Ki 21200 60°  NESHAiE R & -
S 8 4 L EBITEE ki 21350 60°  ESHiE R & -
S 8 4 LT E S ki 21500 60°  MESHiE R & -
S 8 4 LT EE Kis #2600 30°  NEAMAIESE & -
S5 8 4 )L EBITEE Kis 2700 30"  NEAMIESEE & -
S5 8 4 L EBITE S Kis 800 30°  NEAMAIESEE & -
S 8 4 L EBITE S Kis 2900 30°  NEAMAIESE & -
S 8 4 L EHITE S Kz 21000 30°  MEARAEEE & -
S5 8 4 L EBITEE Kz @1100 30°  MEAREEE & -
S5 5 4 L EBITEE Kz %1200 30°  MEARAEEE & -
S5 8 4 VBT Kz %1350 30°  MEARAEEE & -
S5 8 4 L EBITE S Kz %1500 30°  MEARAEEE & -
5" 3 NEEERE FRBERIDS I £ 8 Th 1215 18 -
5" D3 (VEEERE FRBERIS I £ 8 Th 2100 1@ -
5" D3 (NEEERE FRBERS I £ 8 Th 2150 1@ -
5" D NEEERE FBERS I £ 8 Th #2200 18 -
5" 3 (NEEERE FRBERS I £ 8 TH #2250 18 -
BEEAEEEAYELE=LE (W) TSERU—T 200 £5.0m % -
BERKBEERYIELEEZILE (WP) TSHRY—TJ 125 K5.0m X -
5 BB E RIS S (2ES A D) ki 1275 18 -
5 B EESE EBI SR (2ES A D) Kiz #2100 18 -
5 SRS EBS SR (2ES A D) Kiz #2150 %8 -




[ st EMEM ] S2410R
8. B (B#EH

% # ®m % By = &
5 B EESEEIE IS S (2ES A D) Kiz #2200 18 -
5 B EESEEEBI SR (2ES A D) Kiz #2250 1@ -
5 B EESEEBIE S8 (2ES A D) Kiz #2300 1@ -
5 SRS E R S8 (2ES A D) Kiz #2350 1@ -
5 s EESE EBI IS8 (2ES A D) Kiz #2400 18 -
5 B EESEEEBIIE S S (2ES A D) Kiz #2450 18 -
5 B EESE R SR (2ES A D) Kiz #2500 18 -
5 B EESE EB ISR (2ES A D) Kiz #2600 18 -
5 B EESEEMBS ISR (2ES A D) Kiz #2700 1@ -
5 SRS EEBI SR (2ES A D) Kiz #2800 18 -
5 B EESERBIIE SR (2ES A D) Kiz #2900 1@ -
5" 3 (VEEERE FRBERS I £ 8 Th 1250 1@ -
5" D3 NEEERE FRBERS I £ 8 Th 215 18 -
5" D3 NEEERE FRBERS I £ B Th 2100 18 -
5" D ANEEERE FRBERS I 2 B Th 2150 1@ -
5" D3 VEEERE FRBERIS I £ 8 Th #2200 18 -
5" 3 VEEERE FRBERS I £ B T %250 1@ -




